

**Q5 (Place Value) Day 15**

Name: \_\_\_\_\_

---

1. Look at the calculation below.

$$1280 \times 185 = 236800$$

Tick the calculations below that would give the same answer as the calculation above.

- $128.0 \times 1850$
- $12.80 \times 185$
- $128000 \times 1.85$
- $128.0 \times 18.5$

---

2. Look at the calculation below.

$$6250 \times 51 = 332520$$

Tick the calculations below that would give the same answer as the calculation above.

- $625 \times 5.1$
- $625 \times 510$
- $62.5 \times 5100$
- $6.250 \times 5100$

3. Look at the calculation below.

$$2550 \times 651 = 1660050$$

Tick the calculations below that would give the same answer as the calculation above.

- $2.55 \times 65100$
  - $25.5 \times 65.1$
  - $25500 \times 65.1$
  - $25.5 \times 65100$
- 

4. Look at the calculation below.

$$266 \times 6520 = 1734320$$

Tick the calculations below that would give the same answer as the calculation above.

- $26600 \times 65.2$
  - $2660 \times 652$
  - $26.6 \times 652$
  - $2.66 \times 65200$
-

5. Look at the calculation below.

$$6420 \times 68 = 436560$$

Tick the calculations below that would give the same answer as the calculation above.

- $6.42 \times 68000$
  - $642 \times 6.8$
  - $64.20 \times 680$
  - $642000 \times 0.68$
- 

6. Look at the calculation below.

$$350 \times 6510 = 2278500$$

Tick the calculations below that would give the same answer as the calculation above.

- $350 \times 65.1$
  - $35 \times 65100$
  - $35 \times 651$
  - $35000 \times 65.1$
-

7. Look at the calculation below.

$$6850 \times 6800 = 46580000$$

Tick the calculations below that would give the same answer as the calculation above.

- $685000 \times 68$
  - $6850 \times 680$
  - $68.5 \times 680000$
  - $685 \times 680.0$
- 

8. Look at the calculation below.

$$6820 \times 38 = 259160$$

Tick the calculations below that would give the same answer as the calculation above.

- $6.82 \times 38000$
  - $68200 \times 3.8$
  - $682 \times 3.8$
  - $68200 \times 380$
-

9. Look at the calculation below.

$$354 \times 65 = 23010$$

Tick the calculations below that would give the same answer as the calculation above.

- $3.54 \times 6500$
  - $3.54 \times 65000$
  - $3540 \times 0.65$
  - $3540 \times 6.5$
- 

10. Look at the calculation below.

$$684 \times 98 = 67032$$

Tick the calculations below that would give the same answer as the calculation above.

- $68400 \times 9.8$
  - $68.4 \times 9.8$
  - $0.684 \times 98000$
  - $6840 \times 9.8$
-

11. Look at the calculation below.

$$681 \times 685 = 466485$$

Tick the calculations below that would give the same answer as the calculation above.

- $68100 \times 68.5$
  - $6810 \times 68.5$
  - $6.81 \times 68500$
  - $0.681 \times 68500$
- 

12. Look at the calculation below.

$$1583 \times 742 = 1174586$$

Tick the calculations below that would give the same answer as the calculation above.

- $1.583 \times 74200$
  - $15.83 \times 74200$
  - $158.3 \times 74.2$
  - $15830 \times 74.2$
-

**Answers**

1. 1<sup>st</sup> 3<sup>rd</sup>

2. 2<sup>nd</sup> 3<sup>rd</sup>

3. 3<sup>rd</sup> 4<sup>th</sup>

4. 1<sup>st</sup> 2<sup>nd</sup>

5. 1<sup>st</sup> 4<sup>th</sup>

6. 2<sup>nd</sup> 4<sup>th</sup>

7. 1<sup>st</sup> 3<sup>rd</sup>

8. 1<sup>st</sup> 2<sup>nd</sup>

9. 1<sup>st</sup> 4<sup>th</sup>

10. 3<sup>rd</sup> 4<sup>th</sup>

11. 2<sup>nd</sup> 3<sup>rd</sup>

12. 2<sup>nd</sup> 4<sup>th</sup>